
Descriptive Geometry 1106_02

 

Name: Date:

Budapest University of Technology and Economics                                     © Department of Architectural Representation

A’

R’

Q’

P’

B’

C’

F’

G’

E’

A”

R”

Q”

P”

B”

C”

Represent the parallelogram ABCD. Construct the second image of the triangle EFG such that it 
lies in the plane of the parallelogram. Take the plane sheet of the parallelogram ABCD minus the 
triangle EFG. Construct he intersection of the plane sheet mentioned above and the triangle PQR. 
Show the visibility .
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